O aa——

7 ] 0f o

s 71y
csxgmedm: S0OIS

=
=

SE43

[ 4
QAo e 7:30

Az AN

9:00 (2¢)

A 11:00 (=Y 1&8)
RF 11:00 (RS 33)

9:30 (s 25)

2% 12:10 (BY 35)
5 2:00 (BY)

°
NELLE Me 5:30
2 g
@
OlHiCtL] =esobizs/ (2R)
sxs / (=)
sxse (F=2)
sas% ()
HEEDTDY (FY)
DiataEs ) (F9)
[ 4
ESF sg ¢ 550/ (F
8 432/ (=

2)2%1:30 (ST 53)
2)2%1:30 (MIIERY)

wE M71E NS
£ 5 A 3EIIE (010-2233-2720)
=% (010-6689-0831)
48 (010-3892-9569)
83| (010-7200-5197)
8 S 5 A ZS3 (010-9594-7080)
O S IS S ZSH(T)
I8 gRe(=2e)
AgH (0= LA)
d T A 2F= (010-5115-4703)
283 (010-5036-0353)
2 A £F T (010-4748-4774)
| S (010-7644-1500)
2 At ﬂ%‘%’ 2AE AE
g M E2d Ay
2 2| & A 243 (010-5254-1368)

Z 2o e
283 Ao
24 EYbH
TN
go)z tzw
&53 oz
Aon

SHARIF

Tk

o5
3%
45
15
25
3%
45

d=3
ol8tg
s
S
a8
XX+t
OHGiI X

R— ”FEJ‘M

<%

=2 s
e gt SEyY

oS ePH S0 fREf (Z14:1)
g 9822 (FY)- 25

AZHOjY MY 74| 402
ZA AT S SA

MOIME] Mzo ot AI9AL 4021x
= FEH 91U (=) -9H7U(F)
2 AN |F9RIIR|S=8R| S1SF | UER |E¥Hu+
Jesa| 2t 86 52 110 12
=3 | 1411 | 4715 2,969 9,339 890
=2 N [1CnT:|ecinR|30DR|40nR (2SR 2
Jless | 423 408 473 400 33 | 2,018
=3 |17554 22,840 18,179 | 20,831 | 2,130 | 100,858
X|cbE  Af MK} = A ol =Xt HfLIH}
19-416 A= dAs id= A0

F L MSEAA LA WA @5 211 (MRS 3577
T E LPARFR02936%04  @=M Y% T01693)
A X» 029309409 X }

C ax
Bein » E B0 I Hotol 4 2% 23]
=RCIpNET
25078 oz m &2 'E!l
o [

=

tp:/Avww.samil.cc B AU s HASA M

SEctm
1. 0= 8ES0t
20|28 AN HeE
3. SIS S| 222

/45 -1

()26 (= ) WYX E7:40, 2L R—ALZBTHSSAR

3|, 7e8-588 3

g m 229(FY) 232(3) 242(3t) 25(%
e A20ZaRE A20S8RY A2 12EE
BYUE SASTHIE T ogg ol oratel
. nz3) . .
= 2 HER 5 ias 2-9FAS 4-saNs
z23| . . e
O U oiae  2-0EANE 4sENE BEE

4. 25(FL) M4 ofloi= JH™0EH=E S-LICH
5, -9 ZIAE A5t O A MIE}

< 182() CIOIHIN-BRALSI/Z2UHE/SLOHLE o =2HA(FLE)

O21Y(E) LB Ha/ R/ THA|- 9K/ AUNCE
HEEA(1509)/ AMSA Y =& HA (3E

O 22U(FY) A ER|(B0), Al SAHEES 2 Bt

g W 162(g) 7(3) 192(8)
" 2HDTA0IE  3HRPIONE  3WRT20IES
8 HTIIS ETIISIIE (B4/EH) (Mg AX-L40I2h ME-0l==d)
g m 16(F)  172(3h) 182(%)  192(5) 02(3)
P N I LG I T
mells A=y mEy ass was Q0%

9, FeIAA! HUPA M (UZR O-TALREL 0 IF EAL AR 1R 132 A8
SEOHHIbZ: 2-35 3 /TS = 4 5ENES
11.220183: £58/E8= /TS == NEY/ESEIE JAIS

1223 NAFEZ : AAEB £F3|/I6HY /OIS F: FAIR

S AICH

o =
o |o

—_

|.n

41

o rlr
ro
ok
_Q_I-

>

-
3

1=
10
>
el t
rlo

LA RE AT
g3t AUE
rtrm BuR oE 24
3I o2 0EH0|
= Mzol A
EI3H0F <.>_FEr. SEX|2H 2
0| x1712 °I| |.I— 7He

= AT

O

kl
r-',:'-zc';=r|'—|.|)|

fo rot ! of

ot
44 T »2 oF

"

re

o0

=)

I~

Ia}

E*
0E
H-|
4
i
it
N
2t
i
s
Rl
>+u
[o]3

> -2
>
ot

J
O ok
=08

o QA
I~
[l
T
I

o M
>
=
o
dn
i1k

riot An

A

o X I

2

rir

1>

ofy

i

o

ru9

|0

ﬁ

[l
o mn it M

ini
4 Ho
i

>
>+
N
)
0z
o e

EECEEES
1 4M BE FY £
Fojct B2 Bfof st
BE|E #FE 2o

i 22l 23| six

P2 AL

o b
s0
N

~
g
_11

=]
Tifo
o
|ru

hl
12}
T

2 N
4o IF
> o

o
)

= =
o
-
o

o ot
U

k=)
=

=ot
Lo 28 ZatAg, HE|2 2 EHo A=H M E
HatE 20| E2tAE EOrE JtHE XMHStn AL “71‘5
2 E*OIEP ié‘l'f Az 22 22 HEE 40 ’*“ﬂloll
5 HM 2 fo = ALt A2 f—
EL EUHE = 2 e E ZAREA 27| 7ts

|2 Ich

ox

g, M2IE, LR Y

shol| ZAb=0] A EA A 2o x5 #2lg
B|Z== 240] ECt HIOZ Xt HEE = T
X0l 1~382 S2|ALt =22 20| AolFE Eoh LIREZ B
Z0h= HE 4 A= HE M=Of “"'OHH ZEo| 2ol H
= HO|X|2t ZX{=50| B7|7| A[ZfSH EHO| HEO X2 1 &
Mz S423 20| SO{7IHN SEO|7F YTk O © Atx
2 ZTsHA oEolE = R0 ¥Fol AArEME md 580
¥ &le RO|M AXBCL F o 23 Af% b MO ZENG
=]

Lt 22/2RE L2t 38 20tE F= AR T2 YHoICh

rlm
o
. o
|o

Z

-

L
8 7jol 22 BE WEE CHEVIBCHE Tl MY, AR S
SO YT LiwO| NE T2 22 ABBLE 20| AMHe

2RUME 7Y S25Itt £5] 2 Aol Argsta o
KHZE Mz oiZh M ZE 2[0f o 7|X7|0f MzS T
T OEol Arg 2o & i%é 3H—’F010F ST BHE &

S|HAM Zo| DtRot JhEstE £ 7| MEO ==
CHEOo@ Chn B 2o XlA 108 O|AF THZ Zolr|

26 T
S SCHH M=o H|O|ZALE 22 HIEBZ 41
Lot =2= 20 Rk Mo Foh =34

AL 22 088 SHopext

=2

mm o

e e
e 4z zo M

-IHH-LI

2
Bz

mo 2

N
4n
TR 3 N Q0 Ny

g I

o

g O
3Q

inl

0!

[El
(1t}
n
o

[
SUHME 7+ 25t ﬁ!7'|| A 4‘— AEs Ao
ol g2|& & 0 20| ¢
EHO| STO| YI|HM 2O A HAX| 2 =
% 920 Lt Folsfof oot ZEto|HE e
fojet = MHE 0183t =H2 e WO &
A EH 2= X2 Qo) OjMS F 20| & =
T AIRfBHOF BtCh @2fE 7| EWE AT W
Cte LUJIRE 82|00 F|XEERE SO H OI-
ZotO|THOA HAYZE SOt Z0|Lt 2 A&

- HZ2
102 Z= ZO|H HAZF & MAECH

[e]

Opo 4 U om
S o o

2 e e

._ru
= M
=

o n
n
o =
b Ho il
>
ro a0 ‘l_
rr & onju om

ne
o

L

o |-I'I.I£ILI-|IZI-{II0_>L'2 ==l
H>|n oy

i
ol
mlo -|> 2o

> U
I'_',:‘_i_l
Hr

oL 19
2

ot

pe 2

I
=

Mo
i}

Jm oy

o U4
c

xe| STE ©AL UM BYS U BYS2
HEgo0|9 £2 Al M2Z0lL IR YU
20| ECL A LR FAE Hrj2 B
Of BatAs ChAl LR ATjO] FHE A
 LFSHR Ol B HOX| OLE LER F
2T 1 SME MLt CHE 242 W7
7| mh2olct, A2hM LR FZHE HTIE o
N3 RS BO|Lt HEBE NHOLD HE
Ect 221 F 13 Y2 #20] #/0|Z
CIZ MHo2 A8 4 ULk,

|o
tu
32 g

27

njo mio
>

£ 52 9
OF

SF ¥
fo ¥ 1x
>
_Enurlr
o U

H

Ml
aNA
2 |0 o

=
4 e
o 0X

o

un L2
rir
[m]

Raliol
>[I rot
3

oo
Q_F

r

_?_I—
D
e

2 oo N Y mo rulru L
bl

]
T@ ne mot

2
M .
]

k1

40

o

4

e =



THE Yoz Y @1 A8 25Tt Hal YR 20

2 | SCt. @AHX 20 HEO

A fORZh Mz HA S WRIE +

2 H7|=ECHs o] XHALEA Or2A S

AZE #X= S7|2A2 &S T/ 5 A

A= HE S0 20| 2asHof otrf. Tf IHRSHA

H 2SS 40 F7| AHY
=

rg i ogrr
]
Ot
N
4 0f
ot
>~
rir
MO
=t
>

Al
= H7IAE 7t aors

OF
=

=
oT
JdAch FEar ME, JrAY X FH S RO ALE He
= I @2 HO|C}. o|m StLtol A= AESt= A2 2
g2, &0 RAE LI+ A83hs 40| EU fldHo|Tt
THISHA ®X| G2 Cf OFEX| g2 WFE QM= AI8S
= B0 = Mool WEH HAs = = /Y0 HE2
Z= =0 &2 102 Old afOtM At A=5h= A0l 2
SfCf. 2|1 s#8l0] =1 HHEO| B Sote XA 25t
A 2 RYALESHOF B,
Mo

-

EHE RAISHD A= +=M00= 842 WAH7|= X0 &
2H=0 A7 WEM Mool 5 EMBLE WEo| AHEstn
o MO= o2 M AT MAH S4= RAHZI7F 5O
UX| HEE MFS 2= A0 FCh AHXZ E M0lE
MZEFO| IR Ol BHAUACHKL 2718 & Ml = WL T
2 ALE3A 0|29 =MD HO|ZATE & 28 59 3
= d& a0 &= oLy J2|3 OpChY S S ALED}
712 0h= 1~270 Eofl B Y WSt AE F

i)

=0| Cf Or27| = Hof| ASZSM ALSICt B = 58 o

CEL

43U WEE 97|87 EHX =2H0| ot AALE St
42171 4 BT A0 ME2 28 LR 42
= el AR =o= 7Y WA FadiFs A
0] a3ttt £3| His=Tt& 4= WH7| 22 20| %
oS82 Mz HY2 =2 AT MK S22 & AUCh H©
8 MEt MO, & A= NER Hi=T HEYD 27}
K| WRSHA SHotFE= A 1 F19 Y 2R R =
2 22 Ui AZ0 RFOIFT HLt LMK HAH H
2l = ALk

| =
=

PLIEE LTS

Ma|z ATHE 0|8 Zal= e -40°COIA 250°CTHR| 2
GU7| 2o) Hao| g #E s22E HEE X o
Mgk BEn 2oe80E WL Z20[HOE 242
Fx| ook F2| Al B BBET ECL QA 2A2lEr o
ECHR 2AO|L #IE glO|E SIYRHOR AgY 4 o]
02 BEHIE| S0 TR G20 AZsiT BB B
DR 07} Uk 0 @ BE 20 Ho|YArtE Y1 of
2014 102~15% HE 37 BoICH} R 22 YR
Uo|B ASE £1 O QAT AISE  Urk HL W}
oIxof 9 3% P S24F0 sl ojgf L2 9l
C}2 20| MAQIXIOf Hoi= Xptet AKQIXIS WA

-

S OISHE S O} X,

Uy 87|

e SAOILE ATYE, ¥, W 52 HEE 4 9lof iR
Q8o 28D U= UHEIIE S Ba| Wlo| 3
& 24 OfLICE, ChEt AFBSF x| 110] HRA7ILE Lo O]
Mgt 570l MAS W mASHE R0l ECt ofRal &2

STO|ZtL stEHEIE O oM Mzl HAo| Lojg =+
A7 WEZOIEt 3| £ Ao A= HElE WE2
A EtOIESHA AN A0 2Elsts A0l 2| Gor Ha
7t ofEh d2iM 8420 7|1 23S LRISHA =|H
Mz HAo] # XL TE 2HAE 0|83 MHSHALL &

o 7150 A= HEE WE HES dHsts A FHT
ct.

soteAlE 2

bl
3 OfmfE
s
7 5%
o 5 mE
B Hws| TH=
2 STARRME

PR =cic:sie [

Aps ot i a7 &7 A Y
434 gt
7
b 2ciiery
) soRAl= 2 )
= ATLX MIE] - AU Y| (2F 1200(E])

4-78M 9HEFR-ZT AR
4-75M 1057 - SYRALE 1055 - AL (2 1200

it FE2 MY is2s g=3

HEe =42 7|9
SFO E5S 7tE AFBoMELIth o o] HF7| MY 2
=52 PRSI DuAED HAAHZSLCH D4 o

€2 ML= X[ o m& Ho =M & 5Lt
AL} 7o MEHO AHEE B 22 AYs 2
=L X= 28 E 22 7I=Lth

oo Hi N rjorot
0N 5
Hu - ==

I.9% MX|Xte| o - HIS7| WY

A MX|[X= BC 9MI7] F 2,800 T O|A2tA0| HFO 2
LHF[OI RS W ERCIOIM 2SUE StLiE ol MAIARAS LI
SILIEMHAM QANAH TS He IHHLZ ofa, =34,
oz S40| AR, HF2| AKXt CHEO| AEH AHASL
Ch =7tHe=2 B QlbE MPS2M SiLids ZLldt
OIX|5t= AO| OfL|2l, F=H ZL=2| M&EE3E ’OHS0
FdS HOLS0|D MEHO S LoASLC ol A
% 4| HO|Lt 5719 S0 MS0tet 2 LiZte| dNaxss
Zx Hof XY=HE RUH HIS2 20| FHo1o Fu
IAE| D AAS LY Of, StLHEHS| W YO|FL 22| X E 27)
St3 SHLEEM ZOt7ERRSiOF &= J-A ShX| FAS UL
Z= J&/Ch= BC 586 HIAEO|A 2 st BLICE

Of [ StLIEM A Eot MBIofA HF7] A LHE|MS7H?
A. StLEEOl Efoh W Oo|2te T S W LIC.

B. StLIHC E&0 ==FUS WYLICH

FEA, 2| VFH @0 SEIX| RolEE SILIHS
B= 227t BN ZE =7istn Fof ZH0| O =F5IA|7]
HrEtU L} X& f2|L2ls ZU=S0| HF7| UMY FNH
O GBMoz QY AFLCH ol 2|7t ofW Kok &
L7te

(SR

o assS Ua

1. 2|7Hst2t

"HALES0F H3ls w2 HEZ S0|1 £0] SX[ojtt M T
=FE= XS0t Hol= SX[ojct W StLtEH =8 E= A=
Ot 43l= kM &2 H| RS Y1 HO| M=F F2X|0{L} Of
= 2&F2t MHE 3| stLigel o E2X| REOIZEH(E
1:13)

‘L 0|22 Y= Lf 0| 2529 At LA MLt AA
B JF10 7|50 L d=22 HoW It st 1 O
2t (Chst 7:14

o X[ AfSta 59| G5 AHX| t

P29 & 7t2H HF7] MY 22 e
L7te stLte ez Ltotet otg= R e §5
SHUAIR. KHH[Z2 FHAM T3

H
=
i
n

5t 2AM (B 1:1-7)

AAS ¢

14

24

2. O|H2tE £X| fiCt SA3IH 7| =3t2}

"oz eto| YH0| HIlE OlNEtE S43t S0 0S5t
oSS Gty A2 S0tet SHLL H3ls 22 &
1 02E R 43| StLH =2 SOtSA0jL d= 2
S ZPAH AHZRAN L3t7|E CLISIAIL QI047F SA[AL
2 S0/ MYS LHE|X| OtLBEAILIL|" (& 2:12-13)

Ol2EHo 32 42 2 RHUS S2RSLICH L= A
=& U7t fES I HSSTR SH5HH oA HLE =0
7|Zt, SILEEMA L= 8o Y-S 2R 5T STy
St 200 B [LIQE o= AtH0| X[ [ Aeta 0] HS0f
SLICE OlZALSE 0| F2{QIsto] StLEHM et el
Ch 32|32 2 g0 4512t SZefL T 30| BHU=Z =2
HH0| FAlsto ZEeLCh ol StLtEO| 2SS LT
"0 MY H3|o|A £t 40| ofL|R StLpEM Fot oLt
U] MS0f2 ASao| At7|S7|E| M st YLt 5
Y7|== StLEO| 7[#StA= 7= YL

= o
o2 R

3. ASe 43| E ATst2t

"HEls AR0M LIEE 20 HED AYE Fotal 43|
£ Aysiet S Zot O 2UZ HESH st HESFS
Om ofZlojt M HE XE 2ol MFS O HoM LIA
St AMEE 1 Aol LtA St . | OHO|| Of=QPHA At
719l W& FTIS| AFHSIA|0f 12| M S WS of7|A Ao
2H'(& 2:15-18)

SZAGIH HED M3 E AHS0 RE WMHE, §9 XAt
= {25 £ OZI0I0|EMX| Ol M=REE aH 20 T
A5to] 7|z 5tet gLt

"ot o] "ol 7|Zo[Lt MYHEO| AAHLE FAO| A|SAHLE Z

FI|7F LIALE KIS |L @80 LIALE H=0| kM 455 of
UMZALE T2 WYO|LE £ HHO[ YAEX] 2ot oF AE
OlL} = 9| 2 Hid O|AZ[AO| Cf 242} Xp7|o| OpS0f Y
= THED o] §S &ol0] &5 M RE J|EL FE 2P
£ SHE F= AY R o0 SAID ASHAIL Zp AR
O

S22 OtAIRLl O52 EE AHRUZ AEAL feAgaNM
F0 22 Age| 033 Cf obyO|L|o|CH" (F Y 8:37-39)

22| s|0fA 9F 22U FEH 25UNA| Y XY Oj2H =
OtEts FHMZ 438 ZHZeLTh LENE HEMSE X
EXAEE AESE HUSE YYUERE YOI oA M
SREE 25 o g3/0| HA5t0] 7| =gtACE 2[5k v
o Wt W S AUA Fof F2|L 3] xHYS0| T2y
Ys Hg Ao|H 43| 520|= B FH 13| H20l= oY
% = 20| 1 mjoj L7} = Lf IS 'a’-’é—:"-! oiZoA Fof &
A =

N O

(& 2:28-29) M 2|2 dH¥ST & AUL|Ct 057
L2 = AYLch

=
==

xolL

_l_Exl-OﬂHH 2019. 9. 15.

12700 25930 3821100 451400
12 AMS| : USH =AF H1 : 8SH 2A

2232 Al 2IIE BA HI : AMS LASA

Pl o Z 0
2

g &£ Oz o
Halzs @ 95%
AlyEr o AFE A H
& B 327
EI= 12/ stoll= 2%/ 0|FES
3/ g 42/ Bz
g4 & 1€/ 8l 9:1-11 (F210p)
2545/ & 9:36-43 (A1203p)
2 S : 19/ AN3X 22/ 0IgF
3=/ 018+ 4%/ HiLs|
& 25/ BRI 3%/ A&
42/ 222|0H=H2H
4 W 152/ LIEtLt StLEEISl AtE
HES A
242/ Of24SJ SO & U A
2= A=A
& & 449
g =2 :Ck & ol

7]
S
=
toi
>

5 20N B
2 T ANWS A=A
W= I 18 8ol 28 2AGFD 3% AHFE 4% Y
W=SESS: 12 A X 28 240 2 24 45 2010t
QRS2 22 CKIZE 1101, 43AR] 3% Y= 12 A3
QRO R | 22 SYE, IR UADIER 32 242 07 U ADIER
2_?_

VEEXAN: 22 YBT WAD Tsia

35 Frid golE uEdg



